Chapter 06 - Relevant Information for Special Decisions

Exercise 6-1A  No check figure

Exercise 6-2A  No check figure

Exercise 6-3A

a.
Total fixed cost for Bracelet A: $12,500

b.
Total variable cost per unit for Bracelet B: $62
Exercise 6-4A  No check figure

Exercise 6-5A  Difference of income between the two options: $2,300
Exercise 6-6A  Contribution to profit: $38,000

Exercise 6-7A  Contribution to profit: $120,000
Exercise 6-8A  No check figure
Exercise 6-9A  
b.
Contribution to profit: $19,200
Exercise 6-10A  Relevant cost per unit for making handlebars: $27
Exercise 6-11A  Avoidable cost per unit: $55.40
Exercise 6-12A

a.
Total avoidable costs: $471,500

Exercise 6-13A  
a.
Total avoidable costs: $20,400
Exercise 6-14A  

a.
The division’s contribution to profit: $26,000
Exercise 6-15A

a.
Net effect on income: $(5,000)


Exercise 6-16A  Total relevant costs: $362,000
Exercise 6-17A  The difference of the relevant costs between the two options is $6,000.
Exercise 6-18A  The difference of the relevant costs between the two options is $53,000. 

Exercise 6-19A The difference of the relevant costs between the two options is $25,000. 
Exercise 6-20A The difference of the relevant costs between the two options is $18,000. 

Exercise 6-21A

b.
The difference of the relevant costs between the two options is $10,000.

Exercise 6-22A  The difference of the total contribution margins between the two options is $76,500.

Problem 6-23A  No check figure

Problem 6-24A

a.
The difference of the contributions to profit between the two options is$113,000.

Problem 6-25A

b.
The relevant cost per blanket for this special order is $45. 

Problem 6-26A

a.
Total avoidable costs: $120,000

Problem 6-27A

b.
The difference of the relevant costs between the two options is $340,000.
Problem 6-28A

a.
The department’s contribution to profit: $8,000

Problem 6-29A

a.
The division’s contribution to profit: $ (18,000)
Problem 6-30A

a.
Contribution margin: $5,000

b.
The difference of the relevant costs between the two options at the level of 40,000 units is $6,000.

Problem 6-31A

a.
The difference of the relevant costs between the two options is $50,000.
Problem 6-32A

b.
The difference of the total contribution margins between the two options is $26,000.
Exercise 6-1B  No check figure

Exercise 6-2B  No check figure

Exercise 6-3B

a.
Fixed cost for Model 30 : $10,000

b.
Variable cost for Model 90: $42
Exercise 6-4B    No check figure

Exercise 6-5B  
b.
The difference of income between the two options is $5,200.
Exercise 6-6B  Contribution to profit: $135,000

Exercise 6-7B  The contribution to profit of the special order is $(20,000)
Exercise 6-8B  No check figure
Exercise 6-9B  
b.
Contribution to profit: $28,000
Exercise 6-10B

a.
Relevant cost per unit: $350 

Exercise 6-11B

a.
Avoidable cost per unit: $8.

Exercise 6-12B  The difference of the relevant costs between the two options is $200,000.
Exercise 6-13B  
a.
Total avoidable cost for making doorknobs: $28,200

Exercise 6-14B  
a.
Segment X’s contribution to profit: $3,000
Exercise 6-15B

a.
The segment’s contribution to profit: $(10,000)
Exercise 6-16B

a.
Total relevant costs: $316,000

Exercise 6-17B  
The difference of the avoidable costs between the two options is $24,000.
Exercise 6-18B 
The difference of the avoidable costs between the two options is $2,900,000.
Exercise 6-19B
The difference of the avoidable costs between the two options is $11,000.
Exercise 6-20B
The difference of the avoidable costs between the two options is $52,000.
Exercise 6-21B   No check figure

Exercise 6-22B
The difference of the avoidable costs between the two options is $1,100,000.
Problem 6-23B   No check figure

Problem 6-24B  

a.
The difference of the avoidable costs between the two options is $2,800.
Problem 6-25B

a.
Avoidable cost per unit: $20.50

b.
Avoidable cost per unit: $18.50

Problem 6-26B

b.
Outsourcing the product would increase income by $15,000. 

Problem 6-27B

a.
Avoidable cost per unit: $55  

Problem 6-28B

a.
The Produce Department’s contribution to company profit: $145,000:

Problem 6-29B

a.
Division Z’s contribution to company profit: $(30,000)

b.
Division Z’s contribution to company profit: $225,000

Problem 6-30B

a.
Total contribution margin: $45,000

b.
The option of buying 60,000 radio/cassette players results in $36,000 of higher profit.

Problem 6-31B

a.
The difference of the total avoidable costs between the two options is $64,000.
Problem 6-32B

a.
Contribution margin per labor hour for Product M: $8
b.
Total contribution margin of Product N: $210,000 

c.
Contribution margin per machine hour for Product N: $5
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